If so, classify the triangle as acute, obtuse, or right. triangle; obtuse

3 Alandscaper wants to place a stone walkway from one corner of the
rectangular lawn to the opposite corner. What will be the length of
thef walkway? Round to the nearest inch. 94 ft 4in, ‘




9. Wnte an mdxrect pmof that two obtuse angles cannot
, B ; ; - o
Wnte the angles of N 11, Write the sidesof R

form a linear pair.

- ABEH in order from 15 ARTYin order from
- smallest to largest, - shortest to longest
ZE ZB 2H H 16 E , 7Y, RY, AT
12. The distance from Arville to Branton is 1 14 mﬂes The dmtance frc Branton




58.x = 24;y = 244/3
59)(:: 6\/3.,)/ =12

P, 28, 2

: 3
61. 21 ft 3in.




